e
oIt} a+b+e+dl & Fabolat,

o geas e Yehfolde Beg faadsa tehls
_|_

7

1 1\? 1xa b
—(2) === = — =004
<5> 52xa 100
3 3 3xc 75

S = — =2 =0075
40 2x5 2x5xc¢ d




o

FeasE et o). ol

D 45 ® 50 3 60 @ 75 ® 100






1 1 1

Ll
£ Fotolal,

YEE
-

rr



A, a+n 9

&R I

i)

o
—

ozt (Ha,n

5

HA5qe 7



@ 4dax (—6b) © (-hx) x (—2y)?
1 2
© (-2ab)3 x 4b @ (—gab> x (3ab)3
ORQN®) @ 0O, © ® e 0

® O, © ® ©, ®



o 19 9] o} 7ho] F SF Fato] vhE 9] 7ho] ¥e W), O @

% A%pure] go 2718 vlwstelat,

®

-2y | (~ay)’ 2y
@

gy | ey’ | Ay










2 3 4 10
X1 = 97, Xg = —, X3 = —, X4 = —, "+, X190 = 70]3]— el
X1 X2 X3 X9

XX X3 x10 9 = Fstofet,



11. o8 133 Zo] AAZE 5 8 9o] 212 A P, QS ZS 1
AAPQ 9] Wol? I

® a*+ab 2
a @ a?® + 2ab ® a2+ 3ab

2
@ a2+ 4ab ® a? 4+ 5ab



a, bo] A o= L}

=
=

A 25| Yol

A ---2b--_

D~3-F




13. ok 230 AAZel A ARG FE

5ol a, b o] Aoz vehelat

A.--="?b---. B
- \
; Lo
2’ 1
NE| /
D3 F C






15. T HxFo] Zo)7} 2ab o], Eo17F bl W75 o FuE vy,
HH 17} 6a*b, EO17F ab Q1 AH2F7
6

27150 g vy g & o, =ol7t
ab©]1l FI|7} V) + v, Q1 YEo

YR
-

i

24015 Totolel,



16.

a=2x+14 o, o2 5412 xof Bt 2] o2 YepfiH?

(a-1)x*> —ax+2a—2

@ —2x3 +2x2 + 3x @ 2x% —2x2 + 3x
@ 2x3 +2x2 - 3x @ 2x3 + 2x% + 3x

B 2x3 —2x2 — 3x




6° =68 o) 2y0 gatolat. (@ x20)

17. 2x=3y ¥ - 7
x=3y &, 2x3 + 3x2y

=g
=¥



18.

A=x-2y,B=2x-y+34 1, A1 A-(B-A)-2B+5Z x, yOl
et Ao 2 YeRfH?

@D 3x-3y+3 @ -3x-4y+3 ® —dx-y-4

@ —-4x-y+14 ® —4x-Ty+4






5a — 3ab + 5b

a+b

of g2 Fstoler.



